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QUESTION 1

Push the Exhibit Button to load the referenced "XML Document". 

Create an XML Schema Document for "XML Document". The definitions of this XML Schema Document require that the
value of the level element must be singularly unique within the XML Document. Which of the following correctly
describes the XML Schema Document? 
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A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: B 

 

QUESTION 2

Which of the following does not correctly describe WSDL (WSDL 1.1)? 

A. Under the WSDL definition, you can use the import element to import another WSDL definition 

B. You do not need to specify a binding element when creating a WSDL definition 

C. When a service operation is a "One-way" type, you can specify a fault element to designate the error message type
asthe child element of the operation element within the protType element 

D. When a service operation is a "Request-response" type, you can specify a fault element to designate the error
messagetype as the child element of an operation element within the portType element 

Correct Answer: C 

 

QUESTION 3

Push the Exhibit Button to load the referenced "XSLT Style Sheet". 

Select which of the following correctly describes the output results of an XSLT transformation of the "XML 
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Document" using the "XSLT Style Sheet". Note that the XSLT processor can output transformation results as a
document. Line feeds and indents are not reflected. 

A.  

B.  

C.  

D.  

E.  

Correct Answer: B 

 

QUESTION 4

Push the Exhibit Button to load the referenced "XML Document". 

Assume that the character "3" is obtained from the "XML document". Select which XSLT style sheet correctly performs
the transformation. (Multiple answers possible. Select two.) 

A.  

B.  

C.  

D.  

Correct Answer: BD 

 

QUESTION 5

Push the Exhibit Button to load the referenced "testml.xsd". 
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Assume that "testml.xsd" is defined. Without rewriting this XML Schema Document ("testml.xsd"), create a new,
separate XML Schema Document to partially change the schema definition to write a cellPhone element as a child
element of the person element. As a result, the following "XML Document" will be valid against the new schema. Which
of the following correctly describes the new XML Schema Document? Assume the XML parser correctly processes the
XML schema schemaLocation attribute. 
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A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: C 
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